normalized X?

107}

Entries
Mean 1.015
Std Dev

1072
E Entries 106
= Mean 0.9651
10°E Std Dev 0.6986
10k
-5
10

nfG

=

Ratio

0 2 4 6 8 10 12 14 16 18 20
2

[ normalized x? probability |

0.06F === e

0.05

0.04f -5+

0.08fF - -be-rbeninnd

0.02

0.0.

Ratio

" [Entries
Mean
Std Dev

/. /CMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global__mkFit_batchCAND-adjusted
/.. ICMSSW_12_4_0_pre3/src/DQM_VO0001_R000000001__Global__mkFit_CAND
mmmm DQM_V0001_R000000001__Global__mkFit_CAND-AFTERCONFLICT2

c — 5

" S

2 [ PR S

% 2F 2 g

v [ - E

[ o 2F
15F Voo
: of-
1T -
C -2F
o.sf -3f-
- B SRR R O AR | RS AR B P

o of E i

T

xr 4=
0.8
-3

A - A E

2 18fF 2 18k

< 1.6F %< 1.6F-

v F v F
1.4F 1.4F-
1.2F 1.2F

- -
0.8f- 08f-
0.6F- 0.6F
0.4F 0.4F
0.2F 0.2F

o 0F o O

g 1.1 -l g

1= 0.5
0.9
’fot 10° 1072 1071

AR(track, jet?

g
A 4AF
o
- 3:_
o F
o 2F-
A\ E
-
oF-
-
_2;—.
_3;—.

—af-

° 5: i i

Z 2 ki L O

24

1 E -------------------------

. : :
10" 1 10 10? p103



	Contents
	Page 1


